

Eigen vector: $\overline{A} \cdot \overline{x} = \lambda \overline{x}$ \rightarrow eigenvalue $-\lambda$

\rightarrow eigen vector

$$A = \begin{pmatrix} 1 & 0 \\ 0 & 2 \end{pmatrix} \rightarrow \lambda_1 = 1 \quad \lambda_2 = 2$$
$$v_1 = \begin{pmatrix} 1 \\ 0 \end{pmatrix} \quad v_2 = \begin{pmatrix} 0 \\ 1 \end{pmatrix}$$

$$B = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}$$

$$\lambda_1 = 1 \quad \lambda_2 = 1$$

Any vector is an eigen vector

$$v_1 = \begin{pmatrix} 1 \\ 0 \end{pmatrix} \quad v_2 = \begin{pmatrix} 0 \\ 1 \end{pmatrix}$$

$$v_1 = \begin{pmatrix} 1 \\ 1 \end{pmatrix} \quad v_2 = \begin{pmatrix} 1 \\ 2 \end{pmatrix}$$

$$A = \begin{pmatrix} 2 & 1 \\ 1 & 2 \end{pmatrix}$$

-2-

$$\text{Det}(A - \lambda I) = (2 - \lambda)^2 - 1 = 0$$

~~$$\lambda + 2 = 1$$~~

$$(\lambda - 2)^2 = 1$$

$$\lambda - 2 = \pm 1$$

$$\lambda = 2 \pm 1 = 3, 1$$

$$\lambda_1 = 1$$

$$\lambda_2 = 3$$

$$v_1 = \begin{pmatrix} 1 \\ -1 \end{pmatrix}$$

$$v_2 = \begin{pmatrix} 1 \\ 1 \end{pmatrix}$$

$$v_2 = \begin{pmatrix} 9 \\ 6 \end{pmatrix}: Av_2 = 3v_2$$

$$2a + b = 3a, \quad a = b$$

$$a + 2b = 3b \Rightarrow a = b$$

$$A = \begin{pmatrix} 2 & 1 \\ 1 & 2 \end{pmatrix}; v_1 = \begin{pmatrix} a \\ b \end{pmatrix}$$

$$\lambda = 1 \text{ Solve } \underline{\underline{A}} v_1 = 1 \cdot \underline{\underline{v}}_1$$

$$\begin{pmatrix} 2 & 1 \\ 1 & 2 \end{pmatrix} \begin{pmatrix} a \\ b \end{pmatrix} = 1 \begin{pmatrix} a \\ b \end{pmatrix} \Rightarrow$$

$$\begin{cases} 2a + b = a \\ a + 2b = b \end{cases}$$

$$-a = 1 = b$$

$$v_1 = \begin{pmatrix} 1 \\ -1 \end{pmatrix}$$

$$a = -b$$

$$v_2 = \begin{pmatrix} 25 \\ -25 \end{pmatrix}$$

Example

$$A = \begin{pmatrix} 2 & 4 \\ -1 & 2 \end{pmatrix}$$

$$\det(A - \lambda I) =$$

$$= \det \begin{bmatrix} 2-\lambda & 4 \\ -1 & 2-\lambda \end{bmatrix} = \lambda(\lambda-2)$$

$$= \det \begin{bmatrix} 2-\lambda & 4 \\ -1 & 2-\lambda \end{bmatrix}$$

$$= (\lambda-2)^2 = -4$$

$$(\lambda-2)^2 = -4$$

$$\lambda-2 = \pm 2i$$

$$\lambda = 2 \pm 2i$$

-4-

5

$$\lambda_1 = 2 + 2i$$

$$\vec{v}_1 = \begin{pmatrix} 9 \\ 6 \end{pmatrix}$$

$$\lambda_2 = 2 - 2i$$

$$\vec{v}_2 = \begin{pmatrix} 2i \\ 1 \end{pmatrix}$$

$$A \cdot \vec{v}_1 = \lambda_1 \vec{v}_1$$

$$\begin{pmatrix} 2 & 4 \\ -1 & 2 \end{pmatrix} \begin{pmatrix} 9 \\ 6 \end{pmatrix} = (2 + 2i) \begin{pmatrix} 9 \\ 6 \end{pmatrix}$$

$$2a + 4b = 2a + 2i a \Rightarrow 4b = 2i a \Rightarrow 2b = ia$$

$$-a + 2b = (2 + 2i)b \Rightarrow -a = 2i b \Rightarrow 2b = ia$$

$$2b = ia$$

$$a = -2ib$$

$$b = 1$$

$$\vec{v}_1 = \begin{pmatrix} -2i \\ 1 \end{pmatrix}$$

$$\lambda_1 = 2 + 2i$$

6

$$\text{if } A = A^* \Rightarrow A \in \mathbb{R}^{n \times n}$$

$$Av = \lambda v$$

$$(Av)^* = (\lambda v)^*$$

$$Av^* = \lambda^* v^*$$

Example

6

$$A = \begin{pmatrix} 5 & 1 \\ 0 & 5 \end{pmatrix} \text{ defective}$$

$$\det(A - \lambda I) = \lambda_1 = 5 = \lambda_2$$

$$= \det \begin{pmatrix} 5-\lambda & 1 \\ 0 & 5-\lambda \end{pmatrix} = (5-\lambda)^2 = 0$$

$$v_1 = \begin{pmatrix} p \\ q \end{pmatrix}$$

$$A v_1 = \lambda_1 v_1 \quad v_1 = \begin{pmatrix} p \\ q \end{pmatrix} \Rightarrow$$

$$\begin{pmatrix} 5 & 1 \\ 0 & 5 \end{pmatrix} \begin{pmatrix} p \\ q \end{pmatrix} = 5 \begin{pmatrix} p \\ q \end{pmatrix}$$

$$c=1 \quad v_1 = \begin{pmatrix} 1 \\ 0 \end{pmatrix}$$

$$5c + d = 5c \Rightarrow d = 0$$

$$5d = 5d \Rightarrow d = d \Rightarrow d \text{ is any number}$$

$$\dot{\underline{x}} = \underline{A} \underline{x}$$

$$\frac{d}{dt} x_1 = a_{11} x_1 + a_{12} x_2$$

$$\frac{d}{dt} x_2 = a_{21} x_1 + a_{22} x_2 \Rightarrow x_1 \equiv x_1(t)$$

$$x_2 \equiv x_2(t)$$

$$\underline{x}(t) = c_1 \underline{v}_1 e^{\lambda_1 t} + c_2 \underline{v}_2 e^{\lambda_2 t}$$

where $(\lambda_1, \underline{v}_1)$ and $(\lambda_2, \underline{v}_2)$

are eigenpairs of \underline{A} .

$$\begin{pmatrix} x(t) \\ y(t) \end{pmatrix}^T = \begin{pmatrix} 2 & 1 \\ 1 & 2 \end{pmatrix} \begin{pmatrix} x(t) \\ y(t) \end{pmatrix}^T$$

$$\lambda_1 = 1 \quad \lambda_2 = 3$$

$$v_1 = \begin{pmatrix} -1 \\ 1 \end{pmatrix} \quad v_2 = \begin{pmatrix} 1 \\ 1 \end{pmatrix}$$

$$\begin{pmatrix} x(t) \\ y(t) \end{pmatrix} = c_1 \begin{pmatrix} -1 \\ 1 \end{pmatrix} e^t + c_2 \begin{pmatrix} 1 \\ 1 \end{pmatrix} e^{3t};$$

$$x(t) = c_1 e^t + c_2 e^{3t}$$

$$y(t) = -c_1 e^t + c_2 e^{3t}$$

9

$$\dot{x} = 2x + y$$

$$d = -\dot{x} + 2x + y$$

$$= -\underline{c_1 e^t} + \underline{3c_2 e^{3t}} + \frac{2c_1 e^t}{-c_1 e^t} + \frac{2c_2 e^{3t}}{c_2 e^{3t}} + \frac{2c_3 e^{t \cdot 3}}{c_2 e^{t \cdot 3}} = \cancel{\emptyset}$$

$$\beta = -\dot{y} + x + 2y = c_1 e^t - c_2 e^{3t} \cdot 3$$

$$+ c_1 e^t + c_2 e^{3t}$$

$$\underbrace{-2c_1 e^t + 2c_2 e^{3t}} = \cancel{\emptyset} \therefore$$

$$\begin{aligned}
 c_1 &= -1 & x(t) &= -e^t + e^{3t} \\
 c_2 &= 1 & y(t) &= e^t + e^{3t}
 \end{aligned}$$

$$\begin{cases}
 c_1 = -1 \\
 c_2 = 1
 \end{cases}
 \left\{ \begin{aligned}
 z &= c_1 + c_2 = 0 \\
 x(t) &= c_1 + c_2 = 0 \\
 y(t) &= -c_1 + c_2 = 2
 \end{aligned} \right.$$

$$\begin{pmatrix} 0 \\ 2 \end{pmatrix} = \begin{pmatrix} x(t) \\ y(t) \end{pmatrix} = \begin{pmatrix} 0 \\ 2 \end{pmatrix}$$

$$\begin{pmatrix} (1+t)R \\ (1+t)x \end{pmatrix} = \begin{pmatrix} 2 & 1 \\ 1 & 2 \end{pmatrix} \begin{pmatrix} (1+t)R \\ (1+t)x \end{pmatrix} \frac{tP}{P}$$

$$\dot{\bar{x}}(t) = \begin{pmatrix} 2 & 4 \\ -1 & 2 \end{pmatrix} \bar{x}(t)$$

$$\bar{x}(t) = \begin{pmatrix} x(t) \\ y(t) \end{pmatrix}$$

$$(1) \quad \frac{dx(t)}{dt} = 2x(t) + 4y(t)$$

$$(2) \quad \frac{dy(t)}{dt} = -x(t) + 2y(t)$$

$$\lambda_1 = 2 + 2i$$

$$\alpha_1 = \begin{pmatrix} 1 \\ 2-i \end{pmatrix}$$

$$\lambda_2 = 2 - 2i$$

$$\alpha_2 = \begin{pmatrix} 1 \\ 2+i \end{pmatrix}$$

11

$$\underline{x}(t) = c_1 v_1 e^{\lambda_1 t} + c_2 v_2 e^{\lambda_2 t} \quad e^{ix} = \cos x + i \sin x$$

$$= c_1 \begin{pmatrix} -2i \\ 1 \end{pmatrix} e^{(2+2i)t} + c_2 \begin{pmatrix} 2i \\ 1 \end{pmatrix} e^{(2-2i)t}$$

$$= c_1 \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} e^{2t} (\cos(2t) + i \sin(2t)) + c_2 \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix} e^{2t} (\cos(2t) - i \sin(2t))$$

$$= e^{2t} \left[c_1 \begin{pmatrix} 0 \\ 1 \\ 0 \end{pmatrix} \cos 2t + \begin{pmatrix} 2 \\ 0 \end{pmatrix} \sin 2t + c_2 \begin{pmatrix} 0 \\ 1 \\ 0 \end{pmatrix} \cos 2t + \begin{pmatrix} 2 \\ 0 \end{pmatrix} \sin 2t \right]$$

$$+ i \left[- \begin{pmatrix} 2 \\ 0 \end{pmatrix} \cos 2t + \begin{pmatrix} 0 \\ 1 \end{pmatrix} \sin 2t \right] c_1 \quad 13$$

$$\rightarrow - \begin{pmatrix} 2 \\ 0 \end{pmatrix} \cos 2t + \begin{pmatrix} 0 \\ 1 \end{pmatrix} \sin 2t \Big] c_2$$

$$= \underbrace{\begin{pmatrix} c_1 + c_2 \\ 0 \end{pmatrix}}_{D_1} e^{2t} \begin{pmatrix} 0 \\ 1 \end{pmatrix} \cos 2t + \begin{pmatrix} 2 \\ 0 \end{pmatrix} \sin 2t \Big) + i \underbrace{\begin{pmatrix} c_1 - c_2 \\ 0 \end{pmatrix}}_{D_2} e^{2t} \begin{pmatrix} 2 \\ 0 \end{pmatrix} \cos 2t + \begin{pmatrix} 0 \\ 1 \end{pmatrix} \sin 2t \Big)$$

$$\dot{\underline{x}} = \underline{A} \cdot \underline{x};$$

$$\underline{A} \underline{v} = \lambda \underline{v}$$

$$\lambda = \gamma + i\omega$$

$$\underline{v} = \underline{a} + i\underline{b}$$

$$\gamma = \text{Re } \lambda$$

$$\omega = \text{Im } \lambda$$

$$\underline{a} = \text{Re } \underline{v}$$

$$\underline{b} = \text{Im } \underline{v}$$

) \underline{x}

15

$$x(t) = c_1 \bar{v} e^{\lambda t} + c_2 \bar{v}^* e^{\lambda^* t}$$
~~$$= c_1 (a+i\theta) e^{\lambda t}$$~~

$$= c_1 (a+i\theta) e^{(a+i\omega)t} + c_2 (a-i\theta) e^{(a-i\omega)t}$$

$$= c_1 (a+i\theta) e^{\lambda t} (\cos(\omega t) + i \sin(\omega t)) + c_2 (a-i\theta) e^{\lambda t} (\cos(\omega t) - i \sin(\omega t))$$

$$= \underbrace{c_1}_{D_1} (a \cos \omega t - \theta \sin \omega t) e^{\lambda t} + \underbrace{c_2}_{D_2} (a \cos \omega t + \theta \sin \omega t) e^{\lambda t}$$

$$+ i c_1 (\theta \cos \omega t + a \sin \omega t) e^{\lambda t} - i c_2 (\theta \cos \omega t - a \sin \omega t) e^{\lambda t}$$

$$\bar{x}(t) = [D_1 \bar{a} \cos(\omega t) - \beta \sin(\omega t) + D_2 \bar{a} \sin(\omega t) - \beta \cos(\omega t)] e^{\gamma t}$$

$$\bar{a} = \text{Re } \bar{\gamma}$$

$$\bar{b} = \text{Im } \bar{\gamma}$$

$$\gamma = \text{Re } \gamma$$

$$\omega = \text{Im } \gamma$$

Defective matrices

17

$$\dot{\bar{x}} = \bar{A}\bar{x}$$

$$A \text{ is "defective"} \quad (A - \lambda I)\bar{v} = \bar{0}$$

$$\bar{x}(t) = C_1 \bar{v}_1 e^{\lambda_1 t} + \cancel{C_2 \bar{v}_2 e^{\lambda_2 t}} + \underbrace{C_3}_{\parallel} (\bar{v}_2 + t \bar{v}_1) e^{\lambda_1 t}$$

$$\bar{x}(t) = e^{\lambda t} (\bar{v} + t \bar{w})$$

$$\dot{\bar{x}}(t) = e^{\lambda t} (\lambda \bar{v} + \bar{w} + \lambda t \bar{w})$$

$$\bar{A}\bar{x} = \bar{A} e^{\lambda t} (\bar{v} + t \bar{w})$$

$$= e^{\lambda t} (\lambda \bar{v} + \bar{A}\bar{w})$$